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1) TRADE THEORY

Question No. 1/ Question ID 212 Marks: 2.00

Which machine uses star wheel dressers for dressing the grinding wheel?
DI I 7 TEET &d ) TR A & T TR Fid IR BT IUTNT Ha 82
(A) O Surface grinder
PIERH!
(B) O Centreless grinder (Chosen Option)
' TS (Chosen Option)

(C) O Cylindrical grinder

EIESEY
(D) O Pedestal grinder (Correct Alternative)

PT$SY (Correct Alternative)

Question No. 2 / Question ID 160 Marks: 2.00
Which term refers to the metal deposited during one pass of an electrode?

TS U | ST 814 aTell 9T &) 31 Hgd 82
(A) O Run (Correct Alternative)

A (C t Alternative) . .
(B) O Rootr?Jrnrec T GlObCll |T|

ESRS|

(C) O Backing run
CIERIRS|

(D) O Sealing run (Chosen Option)
i = (Chosen Option)

Question No. 3 / Question ID 26 Marks: 2.00
What is the name of the file shown in the figure?

fort o feaTy 71T BT &1 AT T 82




(A) O Riffler file (Correct Alternative)
WIS (Correct Alternative)
(B) O Barrot file (Chosen Option)
e WwIgd (Chosen Option)
(C) O Mill saw file
[EEEIRIES
(D) O Crossing file
ShIRIT thTgd

Global iTi

Question No. 4 / Question ID 233
What is the name of the fit shown in the figure?

o o faaru 77w fobe &1 IH T 82

Marks: 2.00




WO T Global iTi

(B) O Shrinkage fit

(C) O Clearance fit (Chosen Option)
X fihe (Chosen Option)
D) O Interference fit (Correct Alternative)
fibe (Correct Alternative)

Question No. 5/ Question ID 147 Marks: 2.00
Which inorganic flux is used in soldering stainless steel metal?
RN W YT BT il T H b SPBIai-d T ol UGN far Sirdm 82
(A) O Phosphorlc acid (Correct Alternative)
TS (Correct Alternative)

(B) O Sal - ammoniac

a7 -
(C) O Muriatic acid

HRkufes s
(D) O Killed spirits (Chosen Option)

foee ﬁﬁﬁ?ﬂ (Chosen Option)

Question No. 6 / Question ID 304 Marks: 2.00
Why cast iron is used to manufacture lathe bed?

PHRE IR T AY 58 BT A0 B & YIS BT HRUT AT 82




(A) O Less weight
HH gul
(B) O More ductile (Chosen Option)
IR (Chosen Option)
(C) O Absorbs vibration (Correct Alternative)
HUT P AGRNAT HaTl % (Correct Alternative)
(D) O Resist corrosion
&RUT T TRy el §

Question No. 7 / Question ID 204
What is the size of the Letter 'A’ drill?
3R 'A fST o1 PR & 87
(A) O 6.248 mm

6.248 mm
(B) © 6.147 mm (Chosen Option)
6.147 mm (Chosen Option)
(C) O 6.045 mm
6.045 mm

(D) O 5.944 mm (Correct Alternative)
5.944 mm (Correct Alternative)

Marks: 2.00

Question No. 8 / Question ID 318

Which activity prevents breakdown of machinery in basic maintenance?
B I Tfafafer g wevame § A & ged &l At 82
(A) O Routine maintenance

RECRRCIE)
(B) O Preventive maintenance (Correct Alternative)

IWRYI] (Correct Alternative)
(C) O Reactive maintenance (Chosen Option)

WY (Chosen Option)

(D) O Autonomous maintenance

Marks: 2.00

Global iTi

REIRSIRECRECI)
Question No. 9 / Question ID 126 Marks: 2.00
What is the use of Tinman's 'L' square in sheet metal?
3fic Aed # foTiH & 'L SRR &1 39N 11 82
(A) O To check concentricity (Chosen Option)
Hahregal Sireq & AT (Chosen Option)
(B) O To check angularity
HIUTdT Sire & forg
(C) O To check cylindricity
SATHIRAT S & oy
(D) O To check perpendicularity (Correct Alternative)
Eqddl S & foe (Correct Alternative)
Question No. 10 / Question ID 281 Marks: 2.00

What is the purpose of back gear unit in the lathe machine?
Ay 7 A 9% R gfie &1 35z 7 8
(A) O Toincrease the spindle speed




(B) O To quickly change spindle speed
RS Wis &1 Sedl daer

(C) O To reduce the spindle speed (Correct Alternative) (Chosen Option)
Risa o dis Fu (Correct Alternative) (Chosen Option)

(D) O To avoid abnormal impact on spindle
(S IR 3R YT § §94 & g

Question No. 11 / Question ID 234 Marks: 2.00
Which is the purest form of an iron?
Alig T HaY Y& U B 91 52
(A) O Castiron
Sl gl
(B) O Grey castiron
U T dlgl
(C) O Pigiron
o7 3R
(D) © Wrought iron (Correct Alternative) (Chosen Option)
ﬁIE?ffFﬁ?T (Correct Alternative) (Chosen Option)

Question No. 12 / Question ID 21 Marks: 2.00
Which process breaks down the materials into organic compounds that are used as manure?
DI T uferar Il B HefAe DD H ars &t 8 ST Iudiv @1 & U H far | g2
(A) O Burning waste material (Chosen Option)
gerdf ST (Chosen Option)

" e Global iTi

(C) O Composting (Correct Alternative)
T (Correct Alternative)
(D) O Landfills
ds e

Question No. 13 / Question ID 58 Marks: 2.00
Which metal cutting saw is used to cut large cross section area?
g Hed ST If &1 ITANT IS 19 YR & &I Hlc & T T Sirdr g2
(A) O Circular saw (Correct Alternative)
qt (Correct Alternative)

(B) O Contour saw (Chosen Option)

¢RI (Chosen Option)
(C) O Power saw

UfaR 9l
(D) O Horizgntal band saw

EER|

Question No. 14 / Question ID 75 Marks: 2.00
What is the reading of the vernier bevel protractor shown in the figure?

fort o ife T af R S9d HiddeR &1 UTeuie T 82




(A) O 41° 50" (Correct Alternative)
41° 50' (Correct Alternative)
(B) O 58° 50!
58° 50
(C) O 50°50' (Chosen Option)
50° 50' (Chosen Option)
(D) O 18° 50!
18° 50’

Global iTi

Question No. 15/ Question ID 194
Which drilling defect is shown in the figure?

fory & o1 7 fefetn S faman man 82

Marks: 2.00




(A) O Unequal point thinning
3GHH g ydan g

(B) O 1L%r:;[q%al flow ofl’%w]i_gs Global iTi

(C) O Drill point not in the centre (Correct Alternative) (Chosen Option)
%ﬁ qigc G-k B % (Correct Alternative) (Chosen Option)

(D) O Unequal lip length
3 A fou &1 ders

Question No. 16 / Question ID 191
What is the name of the angle marked as ‘X’ shown in the figure?

o & fgmme e x @ RIfgd et &1 9| T 82

Marks: 2.00




(A) O Point angle

Uisc TTa
(B) O Lip clearance angle (Correct Alternative)

I} @I (Correct Alternative)
(C) O Chisel angle
I

(D) O Rake angle (Chosen Option)

3B WA (Chosen Option)

Global iTi

Question No. 17 / Question ID 116
What is the name of the gauge shown in the figure?

oz # feRamq 71U A 1 A1H T g

Marks: 2.00




(A) O Feeler gauge
IR ol

(B) O Standard wire gauge (Correct Alternative) (Chosen Option)
HES dR A9 (Correct Alternative) (Chosen Option)

(C) O Screw pitch gauge
& {0 19

(D) O Radius gauge
ESRIE]

Global iTi

Question No. 18 / Question ID 48
Which metal property can be drawn into the wire without any rupture?

for &1 & 7701 Y foT fpelt ge-toe & AR & Wi S Tehar 872
(A) O Malleability
ERIUERT]

(B) O Tenacity
AR

(C) O Ductility (Correct Alternative)
(Correct Alternative)
(D) O Elasticity (Chosen Option)
(Chosen Option)

Marks: 2.00

Question No. 19 / Question ID 155
What is the name of the PPE shown in the figure?

forr 7 feRaTy 1T PPE T A1 7T 82

Marks: 2.00




(A) O Chipping goggles (Chosen Option)
[T 7T (Chosen Option)
(B) O Welding hand screen (Correct Alternative)
51 88 [HIH (Correct Alternative)
(C) O Welding helmet screen
ST gaHT B

(D) O Portable screen

Global iTi

Question No. 20 / Question ID 89
What is the name of the part marked as 'X' in vernier caliper shown in the figure?

o A few@me U affer SR # ' 3 Rifgd WrT &1 AW |18

Marks: 2.00




(A) O Depth bar (Correct Alternative) (Chosen Option)
dIR (Correct Alternative) (Chosen Option)

"o R Global iTi

(C) O Beam
CiEs|

(D) O Fixed jaw
Off

Question No. 21 / Question ID 97 Marks: 2.00
What is the other name of zinc coated iron?
fSier Qftd Tg &1 gERT ATH &1 872
(A) O Tinned iron
feTs MR
(B) O Black iron (Chosen Option)
CANIKSI] (Chosen Option)
(C) O Stainless steel
LAY Wi
(D) O Galvanised iron (Correct Alternative)
ST F¢T §3IT dieT (Tea-Tses 3TARH) (Correct Alternative)

Question No. 22 / Question ID 19 Marks: 2.00
Which is an immediate life-saving procedure?
S I Ufehar TahTat SiaH & 872
(A) O First Aid (Correct Alternative)
mYfA® fafer (Correct Alternative)

(B) O Medical treatment
[CIEIRRPEIN




(C) O Call a doctor (Chosen Option)
gide} B! §lMT (Chosen Option)
(D) O Call an ambulance
Ul ! gl

Question No. 23 / Question ID 273

What is the vertical distance of the element of screw thread from crest to the root?

P Y T dF TP IS & dd Bl SR G T 82
(A) O %it;h

(B) O Lead (Chosen Option)
IS (Chosen Option)
(C) O Depth (Correct Alternative)
(Correct Alternative)
(D) O Flank

Marks: 2.00

Question No. 24 / Question ID 65
Which material is used to manufacture Grade ‘A’ 'V’ blocks?
TS ‘A V' AP § & [T o Trsht &1 U foram S 82
(A) O Tool steel (Chosen Option)
cd LI (Chosen Option)
(B) O High quality steel (Correct Alternative)
3= UTdT dredl wa (Correct Alternative)
(C) O Closely grained cast iron
IRID GI:IQI'{ dlcl hRS AR

(D) O Carbon steel
HIa KId

Marks: 2.00

Global iTi

Question No. 25/ Question ID 2
What is the bin colour code for waste paper segregation?
3ARY HTTS GYaHRUl & forg fom (FEsa) 1 &1 Pis w1 82
(A) O Red (Chosen Option)
oIl (Chosen Option)
(B) O Blue (Correct Alternative)
e (Correct Alternative)
(C) O Black
pIcdl
(D) O Green
Xl

Marks: 2.00

Question No. 26 / Question ID 249
What is the reading of vernier micrometer shown in the figure?

3 & few@e U af R AIgshiHier &1 UTeuid ol g2

Marks: 2.00




Global iTi

(A) O 9.763 mm
9.763 mm

(B) O 9.563 mm
9.563 mm

(C) O 9.963 mm (Correct Alternative) (Chosen Option)
9.963 mm (Correct Alternative) (Chosen Option)

(D) O 9.923 mm
9.923 mm

Question No. 27 / Question ID 250 Marks: 2.00
Which micrometer has the provision of interchangeable anvils?
HH- AgHIHER & 8T (anvils) B TARGEY § Sea- HT UG idl 872
(A) O Outside micrometer
HI3CHISS Hl‘sq;ll-lnld{
(B) O Depth micrometer

S AP HIC

(C) O Screw thread micrometer (Correct Alternative) (Chosen Option)

P AS ﬂ'lg'cl"ﬁ'lﬂﬂ (Correct Alternative) (Chosen Option)

(D) O Inside micrometer

9SS AIgHIHIC

Question No. 28 / Question ID 315 Marks: 2.00
What is the use of maintenance records analysis?

REANd Repls fIRAYU &1 R SUANT 22




(A) O To monitor tool life
o 8% WR AoR @A & forg
(B) O For operator efficiency (Chosen Option)
3{TTRCX P! G&fdT & T (Chosen Option)
(C) O To setuptime
Ty fAeid s & forg

(D) O To minimise the frequent break downs (Correct Alternative)

TR-9R 81 91d 9P SIS Bl HH HI1 & oI (Correct Alternative)

Question No. 29 / Question ID 218 Marks: 2.00
What is the use of "GO" gauge in progressive plug gauge?
TG T %1 & "GO" T BT IUTNT T 87
(A) O To check the upper limit of shaft
MU Pt HU T BT Sl B o oy
(B) O To check the basic limit of shaft (Chosen Option)
TP D1 JA GHT B1 Sl B & 11T (Chosen Option)
(C) O To check the lower limit of hole (Correct Alternative)
Eﬁﬁ Fl it T F S FA P f%fl'{ (Correct Alternative)

(D) O To check the upper limit of hole
B I HURI AT DI Sl B & ferg

Question No. 30 / Question ID 114 Marks: 2.00
Why acid tanks are made of lead sheets?

RIS ¢ <fis e I i 9918 91 82

" S5 e e Global iTi

(B) O To avoid leakage
BSIERECECAIY

(C) O To protect against oxidation (Chosen Option)
¥ §9M & T (Chosen Option)

(D) O To protect against corrosive (Correct Alternative)

T&RP 9§ 991 & forg (Correct Alternative)

Question No. 31 / Question ID 295 Marks: 2.00
What is the purpose of top slide in lathe?
AY H I WSS BT I HT 8?2
(A) O Provides cross movement for the tool
JUHT & foTg 1 Yawc UeH &l §
(B) O To support the lengthy works
T BT BT JHYT B & g
(C) O To hold drill
fod BI® A & oy
(D) O Supports tool post with cutting tool (Correct Alternative) (Chosen Option)
HIT a0 & TIY ¢ URE DI JUIS HRaT 8 (Correct Alternative) (Chosen Option)

Question No. 32 / Question ID 14 Marks: 2.00
What is the name of the part marked as ‘X’ shown in the figure?

WY IS H'X’ & U H RIfgd HFT o1 710 1 82




(A) O Spindle (Chosen Option)

(Chosen Option)
(B) O Snug (Correct Alternative)
H (Correct Alternative)
(C) O Nut
qc
(D) O Scriber
ThISR

Global iTi

Question No. 33 / Question ID 168
Why cylinder keys are not removed from the cylinder while welding?
AT Hr T Rycier &1 anfeat Rictex I T 781 A1l ot 82
(A) O To close quickly in case of fire (Correct Alternative)

3(RT & HTHS H Seg] § d¢ H31 & ol (Correct Alternative)

Marks: 2.00




(B) O To adjust the gas supply
1T 3Myfef 1 T A & forg
(C) O To open and close frequently
IR-R WA 3R g PR & 1Y
(D) O To prevent gas leak (Chosen Option)
g a9 1 Ap & INIY (Chosen Option)

Question No. 34 / Question ID 103 Marks: 2.00
What is the name of the supporting tool shown in the figure?

o & faU 770 GeTas IUSBRUT ST ATH HIT 82

Global iTi

(A) O Round bottom stake
A3S dicH Kb

(B) O Funnel stake
B K

(C) O Half moon stake (Correct Alternative) (Chosen Option)
el {4 TH (Correct Alternative) (Chosen Option)

(D) O Hatchet stake

LECRSE]

Question No. 35/ Question ID 236 Marks: 2.00
Which tool is used to remove high spots on all flat and curved surfaces?

Tt YuTe 3R gHTaER Jde! R $d Yss B geH & fold [ IUHRur H1 I9aRT forar Srdn 82
(A) O File




(B) O Hacksaw (Chosen Option)
V(Chosen Option)
(C) O Scraper (Correct Alternative)
(Correct Alternative)

(D) O Chisel

Question No. 36 / Question ID 77 Marks: 2.00
Which is an integral part of the stock in vernier bevel protractor?
R dad Uicaex # i &1 U T 3w & 11 82
(A) O Dial (Correct Alternative) (Chosen Option)
ST (Correct Alternative) (Chosen Option)
(B) O Blade

(C) O Main scale

qeq
(D) O Disc

Question No. 37 / Question ID 303 Marks: 2.00
What is the formula for the gear ratio for thread cutting on a lathe?
Y T IS HieT & e R SrquTd &1 33 |1 82
(A) O DR/DN =TPI on lead screw / TPI to be cut (Correct Alternative)
DR/DN = TPl on lead screw / TPI to be cut (Correct Alternative)

(B) © DN/DR =TPI to be cut/ TPl in lead screw (Chosen Option) ° °
DN/DR = TPl to be cut/ TPI in lead screw (Chosen Option) G o ba | I |
(C) O DR/DN =TPI to be cut/ TPl on lead screw

DR/DN = TPI to be cut/ TPI on lead screw

(D) O DN/DR =TPI on lead screw / TPI to be cut
DN/DR = TPI on lead screw / TPI to be cut

Question No. 38 / Question ID 145 Marks: 2.00
What is the melting temperature for soft soldering?

A e & fore forges &1 amos o g2
(A) O 600°C

600°C
(B) O Above 600°C

600°C ¥ JHIR

(C) O 500°C (Chosen Option)
500°C (Chosen Option)

(D) O Below 420°C (Correct Alternative)
420°C ¥ = (Correct Alternative)

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 334 Marks: 2.00
What is called mass per unit volume of a substances?
forlt g & oawm ufd 3@TS SIaad &1 1 FEd 572
(A) O Mass (Chosen Option)
SIHIF (Chosen Option)




(B) O Volume
S
(C) O Density (Correct Alternative)
Y- (Correct Alternative)
(D) O Weight
HR

Question No. 2 / Question ID 330

How many millimetres are there in 1 inch?

139 4 fvan firefidier gid 82

(A) O 24.5 mm (Chosen Option)
24.5 mm (Chosen Option)

(B) O 2.54 mm
2.54 mm

(C) O 25.4 mm (Correct Alternative)
25.4 mm (Correct Alternative)

(D) O 245 mm
2.45 mm

Marks: 2.00

Question No. 3 / Question ID 339
What is the boiling point of water?
Ot &1 FaYId 1 BIdT 672
(A) O 100°C (Correct Alternative) (Chosen Option)
100°C (Correct Alternative) (Chosen Option)
(B) O 212°C
212°C
(C) O 32°C
32°C
(D) O o°C
0°C

Marks: 2.00

Global iTi

Question No. 4 / Question ID 333
What is termed as the quantity of matter contained in a body?
axg # fAfed gard &) AEn & 1 Bl ST 82
(A) O Specific gravity
fafry Tea
(B) O Volume
SR
(C) O Density (Chosen Option)
Y (Chosen Option)
(D) O Mass (Correct Alternative)
SHHTA (Correct Alternative)

Marks: 2.00

Question No. 5/ Question ID 328
What are fundamental units?
STH Q TR SPIFAT DD 67
(A) O Length, Mass, Time (Correct Alternative) (Chosen Option)
[qTs, ST, JHY (Correct Alternative) (Chosen Option)

Marks: 2.00




(B) O Length, Pressure, Volume

©)O Lgngth, Mass, Qrea
Adlg, goUH, &Ahd

(D) O Length, Mass, Volume
daTs, SoIHM, S

Question No. 6 / Question ID 345 Marks: 2.00
Which is equal to sin@?

sind forg & aRTaR a1 872
(A) O

(Chosen Option)

(Chosen Option)

(Correct Alternative) GI o b a I iTi

(Correct Alternative)

3) ENGINEERING DRAWING

Question No. 1/ Question ID 363 Marks: 2.00
Identify the name of tool?
JUD U] hT [MH \-IEitlI"I"?




(A) O Open end spanner (Correct Alternative) (Chosen Option)
Us WR (Correct Alternative) (Chosen Option)
(B) O Combination spanner

(C) O Ring spanner
el O

(D) O Adjustable spanner
TR 3SR

Question No. 2 / Question ID 353 arks: 2.00
Identify the conventional symbol of material?

I & URURS Udlh &l UgaH?




(A) O Glass
CIE]
(B) O Porcelain
ERIAEEE)
(C) O Steel (Correct Alternative) (Chosen Option)
SHId (Correct Alternative) (Chosen Option)
(D) O Lead

Question No. 3 / Question ID 360
Identify the name of tool?
JUDHU BT A1 TgarH?

(A) O Cross pein hammer
EARRE RN
(B) © Straight pein hammer
SIDEEIS)
(C) O Sledge hammer (Chosen Option)
LS| %'J:IT (Chosen Option)
(D) © Ball pein hammer (Correct Alternative)
CIGR iG] %TR (Correct Alternative)

Marks: 2.00

Global iTi

Question No. 4 / Question ID 355
Identify the conventional symbol of material?

G & YRURS Ul bl Ugd?

Marks: 2.00




(A) O Steel

Id
(B) O Glass (Chosen Option)

19 (Chosen Option)
(C) O Concrete (Correct Alternative)
(Correct Alternative)

(D) O Wood

Global iTi

Question No. 5/ Question ID 348
Identify the conventional symbol of material?

oz A fewme U gl &% uRues Udie 1 Udl ag?

Marks: 2.00




(A) O Glass
CIE]

(B) O Wood (Correct Alternative)
51 (Correct Alternative)
(C) O Paper
DITSI
(D) O Lead (Chosen Option)
) (Chosen Option)

Global iTi

Question No. 6 / Question ID 361
Identify the name of tool?
JUDHU BT A TgarH?

Marks: 2.00




(A) O Aviation shear
I BT

(B) O Hawk-billed shear (Chosen Option)
gld-fad 2R (Chosen Option)

(C) O Double cutting shear
S DIC DRl

(D) O Cutting plier (Correct Alternative)

HleA araT IR (Correct Alternative) G I I I OI °

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 582 Marks: 2.00
What is the meaning of an entry level job?
Ut dad Sid &1 o1 Aaad 872
(A) O Junior interior designer
SR $ERER feueR
(B) O It helps to enter the office
gg Hrafad § Ya% B4 H Hag Hdl o
(C) O Security guard
e ugdl
(D) O ltis a starting or junior level job (Correct Alternative) (Chosen Option)

g Udh QJR?GI'I?ﬂ q1 qﬁw TR B Npdt % (Correct Alternative) (Chosen Option)

Question No. 2 / Question ID 460 Marks: 2.00
In face to face communication, body language accounts for

TA-TE & TaR #, giel o gt &




(A) O 100%
100%
B)O 7%
7%
(C) O 55% (Correct Alternative) (Chosen Option)
55% (Correct Alternative) (Chosen Option)
D) O 38%
38%

Question No. 3 / Question ID 417

Which one is in passive voice?

fAfspa smaret & &1 91 57

(A) O Her birthday was celebrated by us. (Correct Alternative)
Her birthday was celebrated by us. (Correct Alternative)

(B) O Mohan is painting a house.
Mohan is painting a house.

(C) © She was reading a book. (Chosen Option)
She was reading a book. (Chosen Option)

(D) O I have seen that movie.
| have seen that movie.

Marks: 2.00

Question No. 4 / Question ID 382
Hard Skill

(A) O 60 WPM typing speed (Correct Alternative) (Chosen Option)
60 WPM E'Igﬁ'ﬂ s (Correct Alternative) (Chosen Option)
(B) O spoken English
Hifg® sl
(C) O time management
HY Yaey
(D) O quick learner
R et

Marks: 2.00

Global iTi

Question No. 5/ Question ID 530
Which device is used to connect telephone line to a PC?

YRR O el A8 o1 SiieA & o for gfaa &1 SuainT fasa ST 872
(A) O Monitor

(B) O Modem (Correct Alternative) (Chosen Option)
HicH (Correct Alternative) (Chosen Option)
(C) O Hard disk

(D) O Printer
fliex

Marks: 2.00

Question No. 6 / Question ID 506
CPU consists of

CPUH .......... gagl

(A) O Input and output devices (Chosen Option)
Rl 3R 3{13cYc fearsy (Chosen Option)

Marks: 2.00




(B) O Storage device and ALU

€I fEargy ik Tue .y,
(C) O Input device and control unit

gYc f3arzy iR ded gfe (Ram 3o1s)
(D) O Control unit and ALU (Correct Alternative)

ﬂﬁﬁ Tjﬁ?’ (GREW 'sao-ré) IR TEa. Y. (Correct Alternative)

Question No. 7 / Question ID 570 Marks: 2.00
What does 'A' in SMART stand for?
SMART # 'A' &1 &1 312 §2
(A) O Ambitious

Ambitious
(B) O Achievable (Correct Alternative)
Achievable (Correct Alternative)
(C) O Awareness (Chosen Option)
Awareness (Chosen Option)
(D) O Action
Action

Question No. 8 / Question ID 390 Marks: 2.00
Choose the correct response for the given question. “How have you been”?

fau U vy & fore Tel IR E[ﬁﬁl “How have you been”?

(A) O Same to you
Same to you

(B) © On vacation_ And you? (Chosen Option)
On vacation_ And you? (Chosen Option) G' b I 'T :
(C) O Thank you_ And you? o a ' l
Thank you_ And you?

(D) O Very well, And you? (Correct Alternative)
Very well, And you? (Correct Alternative)

Question No. 9 / Question ID 376 Marks: 2.00
Values are

(A) O not punctual
T el

(B) O all have same value
T &1 I THH §

(C) O very costly (Chosen Option)
dgd PIHdT (Chosen Option)

(D) O Motivates our attitude and action (Correct Alternative)

BUR TP 3R P1IATS &1 U HIdT & (Correct Alternative)

Question No. 10 / Question ID 373 Marks: 2.00
A person with a growth mindset is always willing to
Ueh 3o AR arer oafdd gasr ... R @A 8l
(A) O keep quiet
ERRERK
(B) O relax
3RTH A |




(C) O grow, change, learn (Correct Alternative) (Chosen Option)
, et (Correct Alternative) (Chosen Option)
(D) O become rich

Question No. 11 / Question ID 518 Marks: 2.00
The expansion of RAM is
"RAM" &7 faaR & -
(A) O Read Access Memory
Read Access Memory
(B) © Random Access Machine (Chosen Option)
Random Access Machine (Chosen Option)
(C) O Random Access Memory (Correct Alternative)
Random Access Memory (Correct Alternative)

(D) O Read Octet Machine
Read Octet Machine

Question No. 12 / Question ID 531 Marks: 2.00
Which one is a “Don’t” of information security?
I QRET T DI e TT?
(A) O Encrypt laptop hard drive and mobile devices
T4, 8T8 S13d aYT HISSd SUHRUN & TehP HAT

(B) O Take backup data of your PC periodically

-G TR 30 Ul T 93 Sl ol
(C) O Disclose password to anyone (Correct Alternative) (Chosen Op

tig
fdt 1 Wt urgas sarn (Correct Alternative) (Chosen Option) él o b a I ' T|

(D) O Use hard to guess passwords
UIIdS &1 UM T & ol Hid TN B

Question No. 13 / Question ID 446 Marks: 2.00
This intention to move out of one’s place to another for better jobs is called :
IR AHRAT & o Teh WM T g WY W 1 & 37 S DI g1 ol g |
(A) O Litigation (Chosen Option)
SITERT (Chosen Option)
(B) O lrrigation

(C) O Mitigation
RMHA

(D) O Migration (Correct Alternative)
YdTH (Correct Alternative)

Question No. 14 / Question ID 394 Marks: 2.00
Fill in the blank with comparative adjective. “Your pencil is than mine”
GNEISED fa=Iyor o 1y Red R YR | “Your pencil is than mine”
(A) O sharper (Correct Alternative) (Chosen Option)
sharper (Correct Alternative) (Chosen Option)

(B) O blunt
blunt
(C) O thick
thick




(D) O sharp
sharp

Question No. 15/ Question ID 574 Marks: 2.00
It is best to ask questions when asking questions.
Y USd 99g T U1 T 37T ¢ |
(A) O Rude
S
(B) O Sensitive
RECERIK]
(C) O Open and close ended (Correct Alternative) (Chosen Option)
US E@E’ (Correct Alternative) (Chosen Option)
(D) O Personal
Jafda®

Question No. 16 / Question ID 410 Marks: 2.00
When you greet higher official’s such as Teacher, Instructor or Supervisor, you should use

g 3T R, Uliere a1 widers W I HfUB1REl BT 3ifiare ®vd §, aF U B
SUINT HAT MY
(A) O Hey

Hey

(B) O Good morning (Correct Alternative) (Chosen Option)
Good morning (Correct Alternative) (Chosen Option)

(C) O Hello
Hello
0 1 Global iTi
i ooal i
Question No. 17 / Question ID 510 Marks: 2.00

In Excel, the intersection of a row and column is called a

TRIA H, T I (Ufa) 3IR Bl (TdH) P SR (Ufdde) Bl ............ HEI AT g |

(A) O square
TR

(B) O label (Chosen Option)
e d (Chosen Option)
(C) O worksheet
CERIGS

(D) O cell (Correct Alternative)
Iqd (Correct Alternative)

Question No. 18 / Question ID 467 Marks: 2.00
Which one is 3P’s of public speaking?

yfsrs Wi 3t 3 P R ]2




(A) O Possess, Present, Practice
Possess, Present, Practice
(B) O Publish, Pleasant, Perfect
Publish, Pleasant, Perfect
(C) O Prepare, Practice, Perform (Correct Alternative)
Prepare, Practice, Perform (Correct Alternative)
(D) O Perfection, Performance, Painstaking (Chosen Option)
Perfection, Performance, Painstaking (Chosen Option)

Question No. 19 / Question ID 414
Which one is a brain of computer?

HER HT ARTSH B AT 52
(A) O Keyboard
CACI)

(B) O CPU (Correct Alternative) (Chosen Option)
It bt Y (Correct Alternative) (Chosen Option)
(C) © Monitor

(D) O Hard disk
fsw

Marks: 2.00

Question No. 20 / Question ID 534

Which one is a search engine?

B TP T 9 87

(A) O Flicker (Chosen Option)
f0iR (Chosen Option)

(B) O Hotmail
glcHd

(C) O Google (Correct Alternative)
[T (Correct Alternative)

(D) O Face book

Marks: 2.00

Global iTi

Question No. 21 / Question ID 473
Which one is considered to be a good communication?
DI I IS ST YR AT ST 872
(A) O Message is ambiguous (Chosen Option)
T 3RV § (Chosen Option)

(B) O Sender is positive towards receiver (Correct Alternative)

P Ufd YUh HRIHD & (Correct Alternative)
(C) O Receiver doesn't listen to sender

Tl JS® &1 Tal AT

(D) O Sender attacks receiver

UN® &1 RIaR IR gHaAT BT

Marks: 2.00

Question No. 22 / Question ID 489
Gender stereotypes can be

foiT Sleafea g IHa © ... |

(A) O playful
EEK

Marks: 2.00




(B) O cheerful

icll
(C) O personality development
ki fasra

(D) O harmful and hurtful (Correct Alternative) (Chosen Option)
3R Mﬂﬂ (Correct Alternative) (Chosen Option)

Question No. 23 / Question ID 464
Noise, physical discomfort of hotness or coldness comes under

Marks: 2.00

TR, 7Tl g1 ST Al YIRS SrIgwran & Jiaid 3Tt §

(A) O culture barrier (Chosen Option)
hedX dIYT (Chosen Option)
(B) O language barrier
HINT b ST
(C) O environment barrier (Correct Alternative)
91T (Correct Alternative)
(D) O perception barrier
oTYT

Question No. 24 / Question ID 499

RTlis

RTIG....|

(A) O Right To Information (Correct Alternative)
Right To Information (Correct Alternative)

(B) O Read To Information (Chosen Option)
Read To Information (Chosen Option)

(C) O Right Tern Information
Right Tern Information

(D) O Ready To Information
Ready To Information

Marks: 2.00

Global iTi

Question No. 25 / Question ID 558

MSME stands for

MSME SBT3 g ..............

(A) O Micro, Small and Medium Enterprises (Correct Alternative)
Micro, Small and Medium Enterprises (Correct Alternative)

(B) O Macro, Small and Medium Enterprises (Chosen Option)
Macro, Small and Medium Enterprises (Chosen Option)

(C) O Micro, Scale and Medium Enterprises
Micro, Scale and Medium Enterprises

(D) O Minor, Small and Medium Enterprises
Minor, Small and Medium Enterprises

Marks: 2.00




